MATH QUIE BEE QUESTIONS - GRADE FIVE LEVEL

Easy:
1. How many digats are there 21 Bfty — one malhon, four nmdred seventy — sax thoosand,
thirty - theree?
A S B o C,.7 |

2. The scientigts frem DOST counted all the insects they fownd in one vesr. Which scientist
found the fewest mzects?

Dir, Blamco - 5, 044, 215
Dir. Garcea — 5, 040, 8158

Dr. Lee -5, 604, 615
Ir. Mendoza — 5, 064, 91 5

A D, Blanco B, Dn Garcia . Dy, Lee D D Mendoza
3. What iz the product of 23 and 227

A 45 B. 506 C. 360 D, 57
4. This problem s an example of which property? 2 x (4 + 5) =2 x4+ 2 x5

AL Azzaciative Property B. Comuvstative Property

. Dhstrbutive Property 0. Tdentity Property
£ Wlhuch of the followang two numbers sahishies the following equation: ax T=«¢

A.a=3Fc=49 B.as=T¢t=53G6 Ca=8 c=060 =3 e=
6. Whach decimnal 15 equavalent to 4 /5% u

A D08 B 0% C. 0,045

vk

7. Whoch list of fractions 15 ordered from least to g".n'l:g

A 310,205,102, 305 - NO’(_

B.3/10, 375, 275 44

ciz.2s.35310 o (O
D, 375, %, 2153 le\N
Average: P( \’\ Pag

What 15 the sum of 779 and 4/97 (Students are to solve; answers to be rmsed) 1 270
4838 divided by 23 15 . Wnte the mussing mumber — 21 1. 5

Compare: 25 32 and 25, 302, > < pr =7

How maich 15 the followang Boman MNuwmeral! MMDCX? 2610

What fraction of the hgure 15 shadedT (pupals wiate thewr answer)

30.5 - 16.9 =7 [(Write the answer)

What is the quatient : 1295 divided by 57 (Winte the answer)

Al o e

Difficunlii:



